

INTERNATIONAL

DUAL	E: FEBRUARY 6, 2019	4					JOHN G. WALTON		LKNAIIONA		
					R'S ESTIMATE	H. O. WEAVER & SONS		CONSTRUCTION COMPANY		MOBILE ASPHALT COMPANY	
Spec. No.	Item Description	Estimated Quantity	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
	ROADWAY										
201-C	CLEARING (APPROXIMATELY 2.0 ACRES)	1	LS	\$4,000.00	\$4,000.00	\$11,000.00	\$11,000.00	\$15,807.00	\$15,807.00	\$6,200.00	\$6,200.00
206-C1	REMOVING ASPHALT PAVEMENT	175	SY	\$3.00	\$525.00	\$27.30	\$4,777.50	\$3.01	\$526.75	\$14.00	\$2,450.00
206-C2	REMOVING CONCRETE PAVEMENT	225	SY	\$16,00	\$3,600.00	\$27.30	\$6,142.50	\$13.98	\$3,145.50	\$24.00	\$5,400.00
206-D1	REMOVING GUARDRAIL	364	LF	\$3.50	\$1,274.00	\$3.30	\$1,201.20	\$3.34	\$1,215.76	\$3.25	\$1,183.00
206-D2	REMOVING PIPE (ALL KINDS AND SIZES)	70	LF	\$6.00	\$420.00	\$18,50	\$1,295.00	\$6.41	\$448.70	\$8.65	\$605.50
206-E1	REMOVING CULVERT WINGS, HALF MILE ROAD	4	EA	\$1,250.00	\$5,000.00	\$1,275.00	\$5,100.00	\$1,426.72	\$5,706.88	\$1,210.00	\$4,840.00
206-E2	REMOVING HEADWALLS (ALL KINDS AND SIZES)	4	EA	\$250,00	\$1,000.00	\$110.00	\$440.00	\$56,07	\$224.28	\$456.00	\$1,824.00
206-E3	REMOVING GUARDRAIL END ANCHOR (ALL TYPE)	11	EA	\$310,00	\$3,410.00	\$330,00	\$3,630.00	\$333,90	\$3,672.90	\$320.00	\$3,520.00
209-A	MAILBOX RESET (SINGLE)	21	EA	\$95.00	\$1,995.00	\$145.00	\$3,045.00	\$102.84	\$2,159.64	\$190.00	\$3,990.00
210-A	UNCLASSIFIED EXCAVATION	250	CY	\$6.10	\$1,525.00	\$38.20	\$9,550.00	\$34.29	\$8,572.50	\$23.50	\$5,875.00
210-D	BORROW EXCAVATION, (TRUCK BED MEASURE)	2,000	CY	\$10.00	\$20,000.00	\$0.01	\$20,00	\$11.65	\$23,300.00	\$20.75	\$41,500.00
212-A	MACHINE GRADING SHOULDERS	232	RD BD STA	\$100.00	\$23,200.00	\$0.01	\$2.32	\$14.77	\$3,426.64	\$23,50	\$5,452.00
214-A	STRUCTURE EXCAVATION	150	CY	\$20.00	\$3,000.00	\$21.85	\$3,277.50	\$34.29	\$5,143.50	\$12.75	\$1,912.50
214-B	FOUNDATION BACKFILL (COMMERCIAL)	275	TON	\$50.00	\$13,750,00	\$76,50	\$21,037.50	\$75.48	\$20,757.00	\$67.00	\$18,425.00
219-C	SPECIAL FILTER, GEOTEXTILE	2,000	SY	\$4.00	\$8,000.00	\$2.10	\$4,200.00	\$4.37	\$8,740.00	\$2.15	\$4,300.00
301-A	CRUSHED AGGREGATE BASE COURSE, TYPE B, PLANT MIXED, 5" COMPACTED THICKNESS	125	SY	\$15.00	\$1,875.00	\$17.25	\$2,156.25	\$25.61	\$3,201.25	\$39.00	\$4,875.00
401-A	BITUMINOUS TREATMENT TYPE A	125	SY	\$2.25	\$281.25	\$2.65	\$331.25	\$0.01	\$1,25	\$2,40	\$300.00
405-A	TACK COAT	4,000	GALLON	\$3.75	\$15,000.00	\$3.60	\$14,400.00	\$4.25	\$17,000.00	\$4.20	\$16,800.00
407-B	JOINT SEALANT FOR HOT MIX ASPHALT	7	MILE	\$300.00	\$2,100.00	\$200,00	\$1,400.00	\$221.85	\$1,552.95	\$227.00	\$1,589.00
408-A1	PLANING EXISTING PAVEMENT (APPROX. 0.00" THRU 1.5" THICK)	500	SY	\$2.00	\$1,000.00	\$5,60	\$2,800.00	\$6.55	\$3,275.00	\$6.75	\$3,375.00
408-A2	PLANING EXISTING PAVEMENT (APPROX, 2.10" THRU 3.0" THICK)	6,800	SY	\$5.00	\$34,000.00	\$2.00	\$13,600.00	\$1.93	\$13,124,00	\$2.75	\$18,700.00
410-H	MATERIAL REMIXING DEVICE	1	EA	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,595.00	\$10,595.00	\$20,355.51	\$20,355,51
424-A1	SUPERPAVE BITUMINOUS CONCRETE WEARING SURFACE LAYER, 1/2" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE B (150 LBS/SY)	2,900	TON	\$70.00	\$203,000.00	\$72,25	\$209,525.00	\$76.13	\$220,777.00	\$85.00	\$246,500.00
424-A2	SUPERPAVE BITUMINOUS CONCRETE WEARING SURFACE LAYER, LEVELING, 1/2" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE B (80 LBS/SY TO 930 LBS/SY)	4,800	TON	\$70.00	\$336,000.00	\$69.65	\$334,320.00	\$77.86	\$373,728.00	\$76.50	\$367,200.00
424-B	SUPERPAVE BITUMINOUS CONCRETE BINDER LAYER, 1" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE B (330 LBS/SY)	1,125	TON	\$70.00	\$78,750.00	\$66,00	\$74,250.00	\$69.95	\$78,693.75	\$72,50	\$81,562.50
424-C	SUPERPAVE BITUMINOUS CONCRETE BASE LAYER, PATCHING, 1" MAXIMUM AGGREGATE SIZE MIX, ESAL RANGE B	50	TON	\$95.00	\$4,750.00	\$110.00	\$5,500.00	\$118.03	\$5,901.50	\$150.00	\$7,500.00
430-B	AGGREGATE SURFACING	200	TON	\$45.00	\$9,000.00	\$50.00	\$10,000.00	\$55.07	\$11,014.00	\$65.50	\$13,100.00



INTERNATIONAL

ID DATE: FEBRUART 6, 2019				ENGINEER	S'S ESTIMATE	H. O. WEA	H. O. WEAVER & SONS		JOHN G. WALTON CONSTRUCTION COMPANY		MOBILE ASPHALT COMPANY	
Spec. No.	ltem Description	Estimated Quantity	ltem Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	
502-A	STEEL REINFORCEMENT	13,600	LB	\$1.00	\$13,600.00	\$0.75	\$10,200.00	\$0.01	\$136.00	\$1.20	\$16,320.00	
524-B	CULVERT CONCRETE EXTENSION (CAST-IN-PLACE) (INCLUDING WINGS)	90	CY	\$600.00	\$54,000.00	\$685.00	\$61,650.00	\$7.79	\$701.10	\$1,916.65	\$172,498.50	
530-A1	15" ROADWAY PIPE, (CLASS 3 R.C.)	32	LF	\$50.00	\$1,600.00	\$54.20	\$1,734.40	\$38.42	\$1,229.44	\$62.75	\$2,008.00	
530-A2	24" ROADWAY PIPE, (CLASS 3 R.C.) (EXTENSION)	24	LF	\$56.00	\$1,344.00	\$63.95	\$1,534.80	\$162.42	\$3,898.08	\$71.50	\$1,716.00	
530-B	22" SPAN, 14" RISE ROADWAY PIPE, (CLASS 3 R.C.)	72	LF	\$50.00	\$3,600.00	\$64.25	\$4,626.00	\$48.76	\$3,510.72	\$71.75	\$5,166.00	
535-A1	15" SIDE DRAIN PIPE, (CLASS 3 R.C.)	88	LF	\$30.00	\$2,640.00	\$54.20	\$4,769.60	\$63.72	\$5,607.36	\$62.75	\$5,522.00	
535-A2	18" SIDE DRAIN PIPE, (CLASS 3 R.C.)	48	LF	\$35.00	\$1,680.00	\$56.80	\$2,726.40	\$64.28	\$3,085.44	\$65.00	\$3,120.00	
535-A3	24" SIDE DRAIN PIPE, (CLASS 3 R.C.)	118	LF	\$45.00	\$5,310.00	\$63.95	\$7,546.10	\$67.32	\$7,943.76	\$71.50	\$8,437.00	
600-A	MOBILIZATION	1	LS	\$30,000.00	\$30,000.00	\$47,500.00	\$47,500.00	\$104,519.00	\$104,519.00	\$158,144.49	\$158,144.49	
610-A	LOOSE RIPRAP, CLASS 2 (24" THICK)	100	SY	\$60.00	\$6,000.00	\$60.15	\$6,015.00	\$79.85	\$7,985.00	\$116.55	\$11,655.00	
610-D	FILTER BLANKET, GEOTEXTILE (NON-WOVEN)	100	SY	\$6.00	\$600.00	\$8.55	\$855.00	\$4.37	\$437.00	\$3.75	\$375.00	
618-B	CONCRETE DRIVEWAY (6" THICK)	207	SY	\$67.00	\$13,869.00	\$57.90	\$11,985.30	\$71.95	\$14,893.65	\$70.00	\$14,490.00	
619-A1	24" ROADWAY PIPE END TREATMENT, CLASS 1 (3:1 SLOPE)	2	EA	\$750.00	\$1,500.00	\$1,040.00	\$2,080.00	\$1,102.52	\$2,205.04	\$832.50	\$1,665.00	
619-A2	15" SIDE DRAIN PIPE END TREATMENT, CLASS 1 (4:1 SLOPE)	6	EA	\$500.00	\$3,000.00	\$1,200.00	\$7,200.00	\$838.21	\$5,029.26	\$671.00	\$4,026.00	
619-A3	18" SIDE DRAIN PIPE END TREATMENT, CLASS 1 (4:1 SLOPE)	4	EA	\$500.00	\$2,000.00	\$1,365.00	\$5,460.00	\$926.96	\$3,707.84	\$886.00	\$3,544.00	
619-A4	24" SIDE DRAIN PIPE END TREATMENT, CLASS 1 (3:1 SLOPE)	1	EA	\$750.00	\$750.00	\$1,530.00	\$1,530.00	\$1,133.66	\$1,133.66	\$993.60	\$993.60	
619-A5	24" SIDE DRAIN PIPE END TREATMENT, CLASS 1 (4:1 SLOPE)	3	EA	\$750.00	\$2,250.00	\$1,530.00	\$4,590.00	\$1,251.78	\$3,755.34	\$1,020.00	\$3,060.00	
619-B	22" SPAN, 14" RISE SIDE DRAIN PIPE END TREATMENT, CLASS 1 (4:1 SLOPE)	2	EA	\$600.00	\$1,200.00	\$1,530.00	\$3,060.00	\$870.93	\$1,741.86	\$886.00	\$1,772.00	
620-A	MINOR STRUCTURE CONCRETE	5	CY	\$400.00	\$2,000.00	\$930.00	\$4,650.00	\$5.57	\$27.85	\$1,182.00	\$5,910.00	
623-B	CONCRETE CURB, TYPE RAVEL	20	LF	\$20.00	\$400.00	\$27.30	\$546.00	\$68.56	\$1,371.20	\$37.60	\$752.00	
630-A	STEEL BEAMGUARDRAIL, CLASS A, TYPE 2	314	LF	\$32.00	\$10,04 <mark>8</mark> .00	\$26.20	\$8,226.80	\$26.71	\$8,386.94	\$25.75	\$8,085.50	
630-C1	GUARDRAIL END ANCHOR, TYPE 20	9	EA	\$2,955.00	\$26,595.00	\$3,495.00	\$31,455.00	\$3,561.60	\$32,054.40	\$3,437.25	\$30,935.25	
630-C2	GUARDRAIL END ANCHOR, TYPE SPECIAL	2	EA	\$2,955.00	\$5,910.00	\$1,095.00	\$2,190.00	\$1,113.00	\$2,226.00	\$1,074.00	\$2,148.00	
631-C	STEEL BEAM GUARDRAIL RESET (TO INCLUDE RESETTING EXISTING POSTS)	168	LF	\$25.00	\$4,200.00	\$145.00	\$24,360.00	\$146.80	\$24,662.40	\$141.75	\$23,814.00	
631-E	GUARDRAIL END ANCHOR TYPE 20 RESET	1	EA	\$750.00	\$750.00	\$600.00	\$600.00	\$612.15	\$612.15	\$590.75	\$590.75	
650-A	TOPSOIL, 4" THICK	1,200	CY	\$14.50	\$17,400.00	\$19.65	\$23,580.00	\$21.49	\$25,788.00	\$21.75	\$26,100.00	
652-A	SEEDING (HYDROSEEDING)	2	ACRE	\$1,000.00	\$2,000.00	\$850.00	\$1,700.00	\$2,782.50	\$5,565.00	\$1,826.00	\$3,652.00	
652-C	MOWING	4	ACRE	\$168.00	\$672.00	\$50.00	\$200.00	\$139.13	\$556.52	\$268.50	\$1,074.00	
654-A	SOLID SODDING	8,500	SY	\$5.00	\$42,500.00	\$3.40	\$28,900.00	\$4.45	\$37,825.00	\$4.50	\$38,250.00	



INTERNATIONAL

D DATE: FEBRUARY 6, 2019				ENGINEER'S ESTIMATE		H. O. WEAVER & SONS		JOHN G. WALTON CONSTRUCTION COMPANY		MOBILE ASPHALT COMPANY	
Spec. No.	Item Description	Estimated Quantity	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total
659-C	EROSION CONTROL PRODUCT, TYPE S4	50	sy	\$3.00	\$150.00	\$4.55	\$227.50	\$3.90	\$195.00	\$4.30	\$215.00
665-A	TEMPORARY SEEDING	3	ACRE	\$700.00	\$2,100.00	\$290.00	\$870.00	\$890.40	\$2,671.20	\$859.25	\$2,577.75
665-B	TEMPORARY MULCHING	5	TON	\$440.00	\$2,200.00	\$47 <mark>5.</mark> 00	\$2,375.00	\$361.73	\$1,808.65	\$375.95	\$1,879.75
665-E	POLYETHYLENE	2,000	SY	\$1.25	\$2,500.00	\$1.30	\$2,600.00	\$1.39	\$2,780.00	\$2.70	\$5,400.00
665-G	SAND BAGS	500	EA	\$8.00	\$4,000.00	\$5.55	\$2,775.00	\$5.57	\$2,785.00	\$7.00	\$3,500.00
665-1	TEMPORARY RIPRAP, CLASS 2	100	TON	\$60.00	\$6,000.00	\$56.70	\$5,670.00	\$72.59	\$7,259.00	\$53.75	\$5,375.00
665-J	SILT FENCE, TYPE A	1,500	LF	\$4.00	\$6,000.00	\$2.45	\$3,675.00	\$3.45	\$5,175.00	\$4.30	\$6,450.00
665-L	FLOATING BASIN BOOM	200	LF	\$20.00	\$4,000.00	\$39.50	\$7,900.00	\$13.46	\$2,692.00	\$10.75	\$2,150.00
665-O	SILT FENCE REMOVAL	1,500	LF	\$1.75	\$2,625.00	\$0.65	\$975.00	\$0.56	\$840.00	\$1.60	\$2,400.00
665-Q	WATTLE	2,000	LF	\$8.50	\$17,000.00	\$4.85	\$9,700.00	\$7.23	\$14,460.00	\$8.60	\$17,200.00
680-A	GEOMETRIC CONTROLS	1	LS	\$15,000.00	\$15,000.00	\$3,000.00	\$3,000.00	\$8,801.05	\$8,801.05	\$0.01	\$0.01
698-A	CONSTRUCTION FUEL (MAX. BID LIMITED TO \$10,000)	1	LS	\$10,000.00	\$10,000.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
701-A1	SOLID YELLOW, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	3	MILE	\$2,715.00	\$8,145.00	\$3,115.00	\$9,345.00	\$3,172.05	\$9,516.15	\$3,060.00	\$9,180.00
701-A2	BROKEN YELLOW, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	1	MILE	\$1,725.00	\$1,725.00	\$2,050.00	\$2,050.00	\$2,086.88	\$2,086.88	\$2,014.00	\$2,014.00
701-A3	SOLID WHITE, CLASS 2, TYPE A, TRAFFIC STRIPE (5" WIDE)	5	MILE	\$2,750.00	\$13,750.00	\$3,115.00	\$15,575.00	\$3,172.05	\$15,860.25	\$3,060.00	\$15,300.00
701-C1	SOLID TEMPORARY TRAFFIC STRIPE (PAINT)	16	MILE	\$790.00	\$12,640.00	\$875.00	\$14,000.00	\$890.40	\$14,246.40	\$860.00	\$13,760.00
701-C2	BROKEN TEMPORARY TRAFFIC STRIPE (PAINT)	2	MILE	\$505.00	\$1,010.00	\$850.00	\$1,700.00	\$862.58	\$1,725.16	\$832.50	\$1,665.00
703-A	TRAFFIC CONTROL MARKINGS, CLASS 2, TYPE A	165	SF	\$5.50	\$907.50	\$5.50	\$907.50	\$5.57	\$919.05	\$5.50	\$907.50
703-B	TRAFFIC CONTROL LEGENDS, CLASS 2, TYPE A	70	SF	\$5.50	\$385.00	\$5.50	\$385.00	\$5.57	\$389.90	\$5.50	\$385.00
703-D	TEMPORARY TRAFFIC CONTROL MARKINGS	410	SF	\$2.50	\$1,025.00	\$1.65	\$676.50	\$1.67	\$684.70	\$1.60	\$656.00
703-E	TEMPORARY TRAFFIC CONTROL LEGENDS	210	SF	\$2.50	\$525.00	\$2.20	\$462.00	\$2.23	\$468.30	\$2.15	\$451.50
705A1	PAVEMENT MARKERS, CLASS A-H, TYPE 2C	290	EA	\$4.00	\$1,160.00	\$5.50	\$1,595.00	\$5.57	\$1,615.30	\$5.50	\$1,595.00
705-A2	PAVEMENT MARKERS, CLASS A-H, TYPE 2D	290	EA	\$4.00	\$1,160.00	\$5.50	\$1,595.00	\$5.57	\$1,615.30	\$5.50	\$1,595.00
710-B1	CLASS 2, ALUMINUM FLAT SIGN PANELS 0.125" THICK OR STEEL FLAT SIGN PANELS 12 GAUGE (TYPE IV BACKGROUND)	15	SF	\$15.00	\$225.00	\$35.50	\$532.50	\$36.17	\$542.55	\$35.00	\$525.00
710-B2	ROADWAY SIGN POST (#3 "U" CHANNEL GALVANIZED STEEL)	45	LF	\$5.00	\$225.00	\$16.15	\$726.75	\$16.42	\$738.90	\$16.00	\$720.00
740-B	CONSTRUCTION SIGNS	470	SF	\$7.25	\$3,407.50	\$12.30	\$5,781.00	\$12.52	\$5,884.40	\$12.00	\$5,640.00
740-D	CHANNELIZING DRUMS	50	EA	\$50.00	\$2,500.00	\$27.30	\$1,365.00	\$0.01	\$0.50	\$27.00	\$1,350.00
740-E	CONES, 36" HIGH	100	EA	\$8.00	\$800.00	\$13.10	\$1,310.00	\$0.01	\$1.00	\$0.01	\$1.00
740-I	WARNING LIGHTS, TYPE B (DETACHABLE HEAD)	4	EA	\$170.00	\$680.00	\$100.00	\$400.00	\$235.25	\$941.00	\$96.75	\$387.00



INTERNATIONAL

DATE. FEBRUARI 6, 2019					ENGINEER'S ESTIMATE		H. O. WEAVER & SONS		JOHN G. WALTON CONSTRUCTION COMPANY		MOBILE ASPHALT COMPANY	
Spec. No.	Item Description	Estimated Quantity	Item Unit	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	Unit Price	Extended Total	
740-M	BALLAST FOR CONE	100	EA	\$6.50	\$650.00	\$1.10	\$110.00	\$0.01	\$1.00	\$0.01	\$1.00	
740-0	PILOT CAR	1	EA	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00	\$0.01	\$0.01	\$0.01	\$0.01	
777-R	RAILROAD COORDINATION, PERMIT AND ADDITIONAL INSURANCE (SEE SPECIAL PROVISIONS)	1	LS	\$10,000.00	\$10,000.00	\$13,500.00	\$13,500.00	\$14,846.03	\$14,846.03	\$10,750.00	\$10,750.00	
1002-A	RESIDENTIAL ASPHALT DRIVEWAYS (COMPLETE IN PLACE)	1,187	SY	\$25.00	\$29,675.00	\$17.60	\$20,891.20	\$26.10	\$30,980.70	\$18.75	\$22,256.25	
	TOTAL ROADWAY				\$1,208,543.25		\$1,204,146.37		\$1,304,836.14		\$1,581,444.87	
	WATERLINE RELOCATION											
641-A1	3/4" TYPE K COPPER WATER SERVICE LINE LAID	70	LF	\$13.00	\$910.00	\$34.65	\$2,425.50	\$35.28	\$2,469.60	\$34.00	\$2,380.00	
641-A2	6° P.V.C. WATER MAIN LAID (SDR 21)	140	LF	\$20.00	\$2,800.00	\$65.85	\$9,219.00	\$67.07	\$9,389.80	\$64.75	\$9,065.00	
641-A3	6" D.I. WATER MAIN LAID (CL. 52)	670	LF	\$39.00	\$26,130.00	\$77.95	\$52,226.50	\$79.47	\$53,244.90	\$94.00	\$62,980.00	
641-C	DUCTILE IRON M.J. FITTINGS	1,214	LBS	\$3.50	\$4,249.00	\$9.85	\$11,957.90	\$10.01	\$12,152.14	\$9.65	\$11,715.10	
641-J	6" GATE VALVE AND BOX	1	EA	\$900.00	\$900.00	\$1,240.00	\$1,240.00	\$1,263.63	\$1,263.63	\$1,219.50	\$1,219.50	
641-L	CONCRETE FOR WATER MAINS (THRUST BLOCKS)	1	CY	\$250.00	\$250.00	\$380.00	\$380.00	\$386.43	\$386.43	\$373.00	\$373.00	
641-M	6" RETAINER GLAND	64	EA	\$65.00	\$4,160.00	\$95.25	\$6,096.00	\$96.99	\$6,207.36	\$93.75	\$6,000.00	
641-P1	3/4" SERVICE TAP	1	EA	\$250.00	\$250.00	\$760.00	\$760.00	\$775.48	\$775.48	\$748.50	\$748.50	
641-P2	CURB STOP	1	EA	\$100.00	\$100.00	\$330.00	\$330.00	\$334.32	\$334.32	\$322.75	\$322.75	
641-R	RESET CUSTOMER SERVICE (3/4" X 5/8")	1	EA	\$325.00	\$325.00	\$675.00	\$675.00	\$680.87	\$680.87	\$657.00	\$657.00	
641-S	RESET EXISTING VALVE BOX	1	EA	\$200.00	\$200.00	\$460.00	\$460.00	\$465.09	\$465.09	\$449.00	\$449.00	
645-A1	4" H.D.P.E. SEWER MAIN LAID	300	LF	\$20.00	\$6,000.00	\$67.00	\$20,100.00	\$68.33	\$20,499.00	\$66.00	\$19,800.00	
645-A2	1.5" H.D.P.E. SEWER SERVICE LINE LAID	100	LF	\$10.00	\$1,000.00	\$38.00	\$3,800.00	\$38.62	\$3,862.00	\$37.25	\$3,725.00	
645-J	4" GATE VALVE AND BOX	2	EA	\$800.00	\$1,600.00	\$985.00	\$1,970.00	\$999.12	\$1,998.24	\$964.25	\$1,928.50	
645-P	1.5" SERVICE TAP	2	EA	\$800.00	\$1,600.00	\$1,840.00	\$3,680.00	\$1,873.20	\$3,746.40	\$1,808.00	\$3,616.00	
645-T	CONNECTION TO EXISTING SEWER MAIN	4	EA	\$2,500.00	\$10,000.00	\$3,060.00	\$12,240.00	\$3,116.40	\$12,465.60	\$3,007.75	\$12,031.00	
	TOTAL WATERLINE RELOCATION			\$60,474.00		\$127,559.90		\$129,940.86		\$137,010.35		
TOTAL AMOUNT BID FOR PROJECT:				\$1,26	9,017.25		1,706.27 LOW BIDDER	\$1,434	,777.00	\$1,71	8,455.22	

I HEREBY CERTIFY THIS TO BE A TRUE AND CORRECT TABULATION OF BIDS

ANGELA NOCERA, PE CIVIL ASSOCIATE

MICHAEL BAKER INTERNATIONAL, INC.